http:;

STAKE POCKET BED RAIL 1024

Parts List:
QTY STAKE POCKET AND UNIVERSAL BED RAIL INSTALLATIONS INSTRUCTIONS:
(1) Bed Rail Set (2) Rubber gaskets
(2)3/8 X 2" Allen head bolts (2)3/8x11/2" dented bolts
(2) 3/8" Round gaskets (2) 3/8" Flat washer
(2) Rectangular threaded plate (2) 3/8" Lock washer
(2) Rhomboid threaded plate (2) 3/8" hex nut.

Tools Required :
7/32" Allen Wrench (1) Driller 7/16" Twist drill bit

Installation Instructions:

1.- Read and understand instructions completely before begining installation.

2.- Place the Bed Rail over the stake pocket .

3.- Attach the rail into the stake pocket using the allen head bolt and insert the threaded plate into the stake .
pocket . When the threaded plate spins around it will lock itself inside the stake pocket.

4.- Insert dented bolts to the limit. Use a nut and wrench to tighten the dented section of the bolt into the threaded base.
5.- Place bed rails on truck bed in the desired position, use point head of dented bolt to mark the position of four 7/16" holes to drillj

6.- Mount the bed rail using all provided hadware if needed.
7.- Remember to re-tighten all the bolts periodically .

Assembly Diagram:

PICTURE 1. PICTURE 2.
BED RAIL

i
RUBBER__ -
GASKET =

& TRUCK BED

i PR - —

- FLAT WASHER * ===
: I = «—LOCK WASHER
'HEX NUT — > 0T

Cleaning and care Instructions :

To protect the finish, do not use any abrasive automotive wax. The use any soap, polish, or wax that contains
an abrasive is detrimental to the finish, as the compounds scratch the finish and cause corrosion.

Firmado digitalmente por E. Arana
cn=E. Arana,

Fecha: 2005.05. :05:13 -06'00'
Motivo: <ningun

Fecha Max. Emp: 23/mar/2011

Yfollr pdf Revised 3/01/01

l1ofl


alejandro corona
 

alejandro corona
 


	HoyE: Fecha Máx. Emp: 23/mar/2011
		2005-05-26T15:05:13-0600
	E. Arana
	<ninguna>




